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Jfor the questions

1. Answer the following questions (any ter;)x:10=10
Oo aTRd Oed Tl (R it we=ht)
(a) What is the problem of ‘choice’?
Raiaic S i b
(b) Distinguish between a firm and an
;I%?l;%rﬁym F Bt SoglE Tes Aide H
901

(c) Mention one feature of capitalism.

A= @bt @Er S T

(d) State one feature of economic goods.

wftafos ANTPEET <6 @HEy Sw T |
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What is cross demand?
fodz oifzml 52

Write the demand function.

sifewl el fordt |
What are complementa.ty goods?
AR AR (52

Draw the demand curve of Giffer, goods

el AR ST Sy oy |

What is the shape of pert :
supply curve? periectly inelastic

sropd SR @R wigRs 59
What is producers’ surplus?

AR ©78 59

Define opportunity sets,
et FR2OT e |

What is income consumption cyryeos
Cr

w7 GAEl (@94 59

Mention the concept of market demand.

o9 BifEwla 4199t Sy 4l |

Distinguish between stock and supply.
TS HIE @SN Aere e Fefw s

Define imperfect competition.
g afowifre sicet firs |

( Continued )
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(r) What is derived demand?
Tgo bifzl 52
(@) State one character of labour market.

X9 IHF 96 @FEEy Sy 9

() What is meant by property rights?
oifiey 32 5 qmR?

Answer the following questions in short
(any five) :
©oT] eppiRd b el Pl (R it #Aioht) ¢

(a) Distinguish between positive economics
and normative economics.

3feqce SIS S wyrpfare SAIGT WSS
sl ey <4t

(b) What is economic problem?

Gftfes g 750

(c) Write any two features of basic
competitive model.

Gt dfewitemee wifs R Qe O
caf¥igy et
(d) Why is the cross elasticity of demand

for su.bstitute goods always positive and
negative for complementary goods?

viftmi 54 Rfegiorret Ry s Rees ANER
CRIS NS SiF AReEe RSN (RIO
el 27

2x5=10
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If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of 60
per litre?

o 3 dfS #oE A" 7w 40 T e
@t~ 40 o ST iR =, o
ofs FOI M 7N 60 T TE G
siftwE ARE 9 2799

Why do two indifference curves not
intersect each other?

yofel (e TR R 4T @ o
Why is the supply curve of labour
upward sloping?

=9 @i @3 S =9

Distinguish between fixed and variable
costs.

g oiF REETIE AT Sy Fid 10

Mention two government policies tqo
enhance competition in the market,

e aferfiel 3 afq a1 75! R Tfs
Ot 74|

Why do input demand curves shift to
the left?

o bifdw @4 fr qrSwice =AERS =9

( Continued )

3. Answer the following questions (any four) :
5x4=20

OO #PEET ©ed mal (R i oifsst)

(@) What is price rationing? Explain the
impact of price rationing on the market.
1+4=5

79 e 7 w9 e GTME TSI
8oFe ol [REF @, TG T4

(b) How does the profit motive drive the

market system? Discuss. S
Tfeq SURIR (PEME JIN AT ARDITS
I HIEoAl Pl
' (© Explain the characteristics of a mixed
economy. S
fir wdAfes @REpEE gl
(d) What is price mechanism? How does
price mechanism allocate resources?
1+4=5
g dfen 2 73 ofEwid (PUTMEE WS

foge 997?

() What is budget line? How do changes
in income and prices affect the budget
line? Use diagrams. 1+2+2=5
s @3 62 SR i w@w ARTEE
IEG (@IT ASife w2 o T S|
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(9)

(v

(6 )

Show that a monopolist always operates
on the elastic part of the demand curve.
Why? 3+2=5

(Sa @ SN FPIN qee il @21
fEfoge SRAGS AT 03| ea?

Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
51% A HF AT IR Jrere =46 Zioi T4 |
#fifes TH @R T [ @F T o o[l

@1 PE?7

Explain the various factors determining
the demand for labour. 5

g it 4R w9 Rfen s T

ESil

4. Answer the following questions (any four) :

woq ANEEE Ted il (R i sif¥et) -

(@)
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10x4=40

What are the fundamental economic
problems of an economy? How can
various economic problems be explained

through the use of production possibility
curve? 4+6=10

G2 ST G widtafes SPIPTR 6 62
e wtefoT TIPS e TBRARe!
@R TS @FCEME JH FE A2

( Continued )

(b)

(c)

@

(e)
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(57 )

How is -efﬁciency of market linked with
producers’ and consumers’ surplus?
Explain. 10
TRAMSS THE WF (SIFR Tged Ao IS
wFol $ % WiR? g 9|

Explain the various factors determining
individual and market demand. 10

JfeTe v wiF @y oiftwE FEETR
At F4 | '

What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=10
sfoes (O 97 g wie 25 Amfoq TRES
Afods [T 4ReNt g <4 |

Explajn the process of consumer’s
optimum choice with the help of indif-
ference curve approach. 1O
fers @@ fRowes sepe el T =T
ARG R w41 |

Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-
run average cost curve. 8+2=10

ZHPIAE G I @ RS ANE Y
T @ W 4| EiEe e T &
U-ifed @ER ieermz il |
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(8)

(g) Expla_in the behaviour of a profit maxi-
mizing firm in the short-run. 10

TIPS 93 e DR il
o [T 97 |

(h) Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10
GO TF g v Ifeqee! S
91 GROBI TP g OE-RER
TARGIE 1 SRR oo

(i) Describe the various applications of
elasticity of demand in economics. 10

s{fee oI Rfegrreor Risa  aw
3=t 4t |

() Explain how Wages are determined in a
competitive labour market. 10

AORPOTAT M qwRe TR @EE
fdifee =, 0t =i |

Aok ok

A23-5000/447 3 (Sem-1/CBCS) ECO HC 1



